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This paper contains 70 questions.
Before starting the paper ensure that all questions are in proper sequence.

Blank papers, clipboards, log tables, calculators, mobiles or any electronic device are not allowed.
Before starting the paper, fill up the required details in the blank spaces provided on the OMR sheet.
Do not forget to mention your roll number neatly and clearly in the OMR sheet.
No rough sheets will be provided by the invigilator.

No query related to question paper of any type is to be made to the invigilator.
Onthe OMR sheet darken the appropriate bubble with blue or black ball Pen.
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You are not allowed toleave the examination hall before the end of the exam.
. Each Question carries 4 marks. For each correct response, the students will get 4 marks.
In case of incorrect response, no marks will be deducted.
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MATHEMATICS (Q.1 TO Q.25)

1 crore = million

(1) 10000 (2) 1000

(3) 100 (4) 10

Which of the following number in roman numerals
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is incorrect ?

(1) LLX (2) XLL

(3) LXXX (4) LX

The tiffin service charge Rs. 20 for lunch and an
extra Rs. 5 for milk or tea per day ? How much
money will be charged in a week ?

(1) Rs. 75 (2) Rs. 100

(3) Rs. 175 (4) Rs. 125

Find a whole number n, such that n = 2n.
(1) 20 (2)0

(3) 100 (4) 10

The product of a whole number and its successor
is —

(1) an even number (2) an odd number

(3) divisible by 4 (4) divisible by 3

If 'a’ is divisible by 9, then it is divisible by

(1)6 (2) 3

3)7 4) 11

Which of the following numbers is a perfect
number?

(1) 4 (2) 12

(3) 8 4)6
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1 RIS = faferas

(1) 10000 (2) 1000

(3) 100 4) 10

9 3fepT H FRfIRad H | DI A=A Terd & ?

(1) LLX (2) XLL

(3) LXXX (4) LX

fe Tt TaT STUER & | & folg 20 WU 721 g9 a1 a1 & fofg
afaRed 5 wud gfifes ol € 1 918 & Ua g 4 fohae
®YY AN ?

(1) 75 &1 (2) 100 T
(3) 175 &9 (4) 125 B9
Tah Yot ¥ n A1 HIRTY fora folin = 2n 8 :
(1) 20 (2) 0

(3) 100 (4) 10

T qUt HRET AT IHD STITH! BT O RIT BT —

(1) Teb || F=A1 (2) Ueh fawH Hen
(3) 4 Y (4) 3T ¥

Ife F¥en'a’ 9 9 faursy 8, 1 I favrsr 8l -
(1) 6 2) 3

)7 4) 11

ferforRad & | 1= W1 Ueoh S8 A1 8 ?

(1) 4 (2) 12
(3)8 4) 6
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8. What is the 28™ even number in the sequence | 8. 238 dI< 31JshH # 28 1 HH T DIHI & ?
after 238 ?
(1) 294 (2) 280 (1) 294 (2) 280
(3) 284 (4) 288 (3) 284 (4) 288
9. Ifa, b and c are intergers then which of following | 9. Ifda, b HQJTCtI;UﬁEF%, AfrF<A I PTI IR ?
is true ?
()(@+b)xc#axc+bxc ()(@+b)xc#axc+bxc
(2Ja-b=b-a (2Ja-b=b-a
(3)a+b=b+a (3)a+b=b+a
(4) None of these (4) STH A BIS 7TE
10. An integer when divided by 43 gives quotient 35 | 10. &l quiies &I 43 N 7 IR 9RTHA 35 AT A9He 2 U
and leaves remainder 2. The integer is :- BI 8, YOI 81T -
(1) 1070 (2) 1501 (1) 1070 (2) 1501
(3) 1407 (4) 1507 (3) 1407 (4) 1507
11. Which of the following statement is correct ? 11. F=faReaddaar T wEI 8 ?
(1) The reciprocal of a proper fraction is a proper (1) Sfrd for1 &1 2Jepe va Sfd T g 2 |
fraction.
(2) The product of two improper fractions is less 2) ﬁaﬁﬁlﬁ WWW,WﬁW@W@W%I
then both the fractions
(3) To multiply a decimal number by 1000, we move (3) ST HRITHT 1000 H 0T HR+1 IR B AT 3 GeHeAd
the decimal in the number to the right by three DI RE SN TA R |
places.
) Product of two fraction = product of theijr denomicators @) 2y =y &1 OTh = Shkd E@[EBT NN
product of their numberators I 3T BT YDA
¥% @13 @ fory 5r71g / Space For Rough Work
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12. The product of two fractions numbers is — If | 12. SO A=l &1 oEhe — o %I

78"
one of the number is %, then find the other Hﬁﬁﬁﬁwm E 2T = = ST =y —
fraction :-
121 121 121 121
(1) 795 (2) Z195 (1) 795 (2) Z{95
122 -123 122 -123
4) 795 4 “195 (3) 795 4 “195
13. Arrange the following fractions in descending | 13. = &= &I 3raRIel o4 # forar —
order:—
17 -3 4 -7 17 -3 4 -7
30" -5 -15" 15 30" -5 -15" 15
17 4 -7 3 17 4 -7
(1) —= = <7% (1) — —<—
—5 30 —15 15 -5 30 -15 15
-3 17 4 -7 3 17 4 -7
@ =>35> 5715 @) — > 5
-5 30 -15 15 -5 30 1515
17 -3 4 -7 17 -3 4 -7
B) s> —>—->— B) zn>—=>—=>—
30 -5 -15 15 30 -5 -15 15
PRI S 38 I D 14
-15 15 -5 30 15 -5 30
9,8, 12,753 , 9,83, 12,753 N
14. 255 "8 35 equals to : 14. 2575 "8 35 ENEN
69 7 69 7
1155 (2) 205 (1) 15 (2) 205
41 2 41 2
6 15 #) 25 @) 15 4 25
3 . 3
15. 10 18 equal to :- 15. 10 ENEAEE
(1) 3.1 (2) 1.3 (1) 3.1 (2) 1.3
(3)0.3 (4) 0.03 (3)0.3 (4) 0.03

Y% @1 P fory T8/ Space For Rough Work
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16. Among 2.34, 2.43, 2.344 and 2.4 the greatest 16. 2.34,2.43,2.344 T12.4 4 9q9 98! 9§ :-
number is :-
(1)2.34 (2)2.43 (1)2.34 (2)2.43
(3) 2.344 4)2.4 (3) 2.344 “4)2.4
17. 1f2994 + 14.5 = 172x, then 29.94 + 1.45 =7 17. afd2994 + 14.5=172xd129.94 + 1.45="?
(1) 0.172x (2) 1.72x (1) 0.172x (2) 1.72x
(3) 17.2x (4) 172x (3) 17.2x (4) 172x
18. A part of circle is called the of the circle. | 18. I &1 &A1 g Dl PEATA T |
(1) point (2) line segment (l)ﬁ?s (2) YETETE
(3) arc (4) None of these (3) =™ (4) STH A BIS TR
19. If three points are on a straight line then they are | 19. H‘iﬁ?ﬁ?ﬁlﬁ?‘cﬁ?@'{m’ﬁ%ﬁ%, I HEARNT :-
called :-
(1) collinear (2) non-collinear (1) S (2) 3RvE
(3) coincides (4) none of these (3) T (4) STH A BIS TR
20. A polygon has 7 sides it is called :- 20. U qgYSl H 7 Yol & IS PEATYI :-
(1) Pentagon (2) Hexagon (1) Tt (2) Teys
(3) Octgon (4) Heptagon (3) 3y (4) F<TYS
21. In the given circle which statement is incorrect ? | 21. fﬁrQTPTQQT—[ﬁ PITA] DU I & ?
L Q L Q
<\ N < N
B B
Al Al
D D
(1) AB is diameter (1) ABUG ¢ |
(2) LON is the minor segment (2) LON aqqaw%
(3) Point M is the centre of the circle (3) %MWWW%I
(4) ADB is the semicircle. (4) ADB U® 3&d<I T |
¥% @13 @ fory 5r71g / Space For Rough Work
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22. Select the incorrect match :- 22. oA el &l gy —

(1) — | | | (1) — | | |

o] — O o] — OO

@) — @) A —
23. Base of a pyramid is : 23. fRiffedrangR eIz |

(1) circle (2) square (1) g (2) o=t

(3) rectangle (4) All of these (3) 3rmad (4) SURYERT FH
24. If sum of two angles is 90° then these angles are | 24. QI ®IVN &1 IR 90° B A Y HIVT HEaAld & —

called :-

(1) complementary (2) supplementary (1) @@ (2) R

(3) corresponding (4) none of these (3) | (4) STH A BT 7TE

25. In a AABC, ZA = 63°, /B = 77° then which of 25. TUhAABCH, Z/A=63°, /B=77° 2@ f=THd £C &8R-
following is £C.
(1) 50° (2) 40° (1) 50° (2) 40°
(3) 30° (4) 66° (3) 30° (4) 66°

Y% @1 P fory T8/ Space For Rough Work
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27.
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29.

30.
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REASONING (Q.26 TO Q.40)

If 'room' is called 'bed', 'bed' is called 'window’,

CLC
Tecno’'24 [

‘window' is called 'flower' and 'flower' is called

'cooler' on what would a man sleep?

(1) Window (2) Bed

(3) Flower (4) Cooler

If SEVEN is coded as 23136 and EIGHT as 34579,

what will be the code for NINE?

(1) 6463 (2) 6364

(3) 6346 (4) 6436

In a certain code language, "CASIO" is written as

"3119915". How is "CITIZEN' written in that code

language?

(1) 295627134 (2) 3192295614

(3) 3912659214 (4) 3920926514

Which of the following interchange of signs would

make the given equation correct?
2x3+6-12+-4=3

(1) x and + (2) + and -

(3) + and + (4)—and +

In a certain code language, '+' represents 'x', -

represents '+', 'x' represents '+' and '+' represents

'—', what is the answer to the following question?
75-5+25+125=7?

Class : VI
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30.
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"Hel' Pl 'HER' DE 8, Tl ATGH Del U= AP
(1) Resar (2) 9
(3) T (4) B

IfS SEVEN &l el 23136 3R EIGHT &1 G+ 34579
g, A1 NINE &1 e a1 eRfi?

(1) 6463 (2) 6364

(3) 6346 (4) 6436

afe foredt ¥ e W, "CASIO" &1 "3119915" foman
ST & | T I AT H "CITIZEN' {5 YR foram Sirmm?

(1) 295627134 (2) 3192295614
(3) 3912659214 (4) 3920926514
fr=forRaa 3 9 gl &1 DI 95 et THIDHRTT Bl FE DR

2x3+6-12+:4=3
(1) x 3R+ (2) + 3R -
(3) + 3R + (4) -3k +
forfl Pre 9T H, '+ BT HdTd 'x' B '~ BT HTA '+' 8 %' B
A9 '+ TR '+ BT Aqerd '—' & | FrfaRad ue &1 o
T E?

75-5+25:125=7?

(1) 5 (2) 10 (1) 5 (2) 10
(3)3 (4)75 (3)3 4) 75
¥% @13 @ fory 5r71g / Space For Rough Work
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31.

32.

33.

34.

. | cLe
%\ Tecnoz4 [ Class: VI
Find the missing term : 31.
49, 64, ?, 100, 121

(1) 74 (2) 80

(3) 75 (4) 81

Find the missing term : 32.

2,5,12,27,?
(1) 53 (2) 56
(3) 57 (4) 58

If A is the mother of B. C is the son of A, D is the
brother of E, E is the daughter of B. who is the

grandmother of D?
(1) A (2)B
3)C (4) D

A woman introduces a man as the son of the
brother of her mother. How is the man related to
the woman.
(1) Nephew
(3) Cousin

(2) Son
(4) Niece

33.

34.

Paper Code
2406
I UG 1A DITY
49, 64, ?, 100, 121
(1) 74 (2) 80
(3) 75 (4) 81
I UG 1A DITY
2,5,12,27,?

(1) 53 (2) 56
(3) 57 (4) 58

IREABDIHIZ|C,APIYAL, D, EGIHS S, E, BHI A2
D $I ST&I B 8?2

(1) A (2)B
3)C (4) D
U 3R TP MMEH &1 U= <ol & {5 ST 711 & HI1E B
T3 JATEH! T IR A T gy |

(1) 77,

(3) o

(2) 95
(4) -

Y% @1 P fory T8/ Space For Rough Work
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36.

L Paper Code

%\ Class : VI ] 2406

A sqaure transparent sheet with pattern is given. | 35. - UeT3al D aa'ﬁfé@ﬁraaﬂw BT DI A BIeH, Wl
Figure out from amongst the four alternatives as @ 915 I ford IR el o faars & 2
to how the pattern would appear when the

Tecno’'24
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transparent sheet is folded at the middle line

shown.
Question Figure: g7 gl :
e~ £ ~ Py £ .
.......... o’ o
Answer figure: gV gl :
. N ° . N °
o° % ° o* e’
(1) ’o (2) .o o. (1) ’o (2) .o o.
° ° ° ° ° °
[ Y (4 [
‘..:..‘ .. ‘..:..‘ ..
(3) . @) || o (3) M @) || o®
° [ ° [

A sqaure transparent sheet with pattern is given. | 36. %W&Tﬂg‘%’qﬁ ﬁfﬁ@ﬁf\?ﬂﬂﬂr\’ BT DI A BIeH, Wl
Figure out from amongst the four alternatives as @ 915 I8 ford IR e o faars & 2

to how the pattern would appear when the

transparent sheet is folded at the middle line

shown.
Question Figure: g7 gl :
NN NN
Answer Figure: gV gl :
(1) (2) (1) 2)
(3) (4) (3) 4

8

y,

dclch 7
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37. A sqaure transparent sheet with pattern is given. | 37. U 3] Ea) ad'ﬁﬁ@ﬁaﬂ'ﬂﬁ BT DI A HIeH, Wi
Figure out from amongst the four alternatives as @ 918 I8 ford TR e o fawars < —

to how the pattern would appear when the
transparent sheet is folded at the middle line

shown.
Question figure: g 31l :
—\ —
/' N /' N
o o
N/ N/
Answer figure: ivk4 3]7?57%[ :
[o] [o] [o] [o] [o] [o] [o) [o]
W] (0% @] oo IEAA @1
o o 0 o o o o o
@) (oo @] (o o @) (oo @] (o o

38. Which answer figure is the exact mirror image of | 38. f&¥ TR A1 3N &1 U Ufferd S BT
the given word/figure.

A A
g JUNE g JUNE
B B

(1) EMuL (2) anug (1) EMuL (2) anug
(3) anutu (4) ANUL (3) anutu (4) ANUL

Y% &1 & forg 5178/ Space For Rough Work
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39. How many triangles are there in the given figure: = 39. €73 Ea) ?Iﬁﬁ»?lﬁ%fﬁﬁ%:

/ /

(1) 28 (2) 36 (1) 28 (2) 36
(3) 40 (4) 48 (3) 40 (4) 48

40. Which of the following cubes can be created by | 40. o=y U oz & Ars oy =T 8 | I |1 I I o1 Fehall 22
folding the given figure?

Question Figure : g7 gl :
E] E]
(A[F [A[F
B B
c[D] c|Doj
Answer Figure : gV gl :
F E F E
E D E D
M| B @ | F M| B @f|F
E D E D
C A C A
@) || B @ || E G| B @[ E

Y BT P o1 T8/ Space For Rough Work
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41.

42.

43.

44,

45.

46.

*
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PHYSICS (Q.41 TO Q.50)

The length covered in one step by a person is called

Tecno’'24
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(1) Cubit
(3) handspan

(2) Pace

(4) Finger

An oscillatory motion is always :

(1) circular (2) curvilinear

(3) periodic (4) linear

A boy walks to his school which is at a distance of

3 km from his home in 30 min. on reaching he

finds that the school is closed and comes back

home in 1 hour. His average speed in km/hr is :

(1) 3 km/hr (2) 6 km/hr

(3) 4 km/hr (4) 3.5 km/hr

The object which does not have light of its own is :

(1) Shining mirror (2) light bulb

(3) Star (4) Candle

If the angle of incidence is 40°, then angle between

the incident ray and reflected ray is :

(1) 40° (2) 60°

(3) 80° (4) 120°

Umbra and penumbra are clearly visible when :

(1) The source of light is big and the obstructing
object is small.

(2) The source of light is small and the obstructing
object is big.

(3) Both source of light and the obstructing object
are big.

(4) Both source of light and obstructing object are
small.

Class : VI

41

42.

43.

44,

45.

46.

2406

foreft cufed g1 U TR § T ) IS o TS Dol

l Paper Code

(1) B1ex (2) PeH
(3) drfered (4) 3T
U STl VI AR B 8

(1) =g (2) IHE
(3) armad (4) Ra®w

Tdh ST 3T el b 30 fve H ugarar e S e | 3 fri ©
T | UEE IR S U T S el 95 &, 98 1 §0C H ard 81 37
ST B | S 3iAe ared fodl /ever H R

(1) 3 fovsii /gvey (2) 6 foHi1 /aveT

(3) 4 foeii /5rvey (4) 3.5 fodii/gvey

I8 g FTRIehT SIU= YT 181 &, a8 8 -

(1) ARG gUT (2) UDT §ed

(3) TR (4) ArFEH

Tfe YT BIoT 40° B, 1 Amaferd fopwor qen wRrafia foovor &
&2 IV BT :

(1) 40° (2) 60°

(3) 80° (4) 120°

U1 3R SUBTT W wU ¥ fexgrg ad 8, 99
(1) TehTEI BT I 91 B1 3R AR 1D a%] BISI Bl

(2) TBTI T AT BICT 81 3R fARIED I TS| B
(3) BTN T AT AR ST IR <1 S &l

(4) UHTE BT BT AR RIS IR SIH1 BIC B

Y% @1 P fory T8/ Space For Rough Work
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The force that opposes the relative motion of two | 47.

surfaces in contact ?

(1) Gravitational force
(2) Magnetic force

(3) Tension force

(4) Frictional force
Muscular force is also called force :
(1) Non—contact

(2) contact

(3) gravitational

(4) magnetic

The hottest planet in solar system is :
(1) Mercury

(2) Venus

(3) Mars

(4) Earth

What type of galaxy is the milky way ?
(1) Elliptical

(2) Spiral

(3) Spherical

(4) Irregular

Class : VI

48.

49.

50.

Paper Code

] 2406
g I Il &1 T¥ID Fda! Pl FTUeT T T faRig dear g ?
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CHEMISTRY (Q.51 TO Q.60)

Filtration is method to separate the components
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ofa:

(1) Solution
(2) Mixture of a liquid and an insoluble substance
(3) Both (1) & (2)

(4) Pure substance

Iodine can be recovered from tincture of iodine by
the process of :
(1) filtration
(3) evaporation

(2) Distillation

(4) decantation

The process followed to separate grains from the
stalks is called :
(1) winnowing (2) Threshing
(3) Sieving (4) Hand picking

The process of conversion of water vapours into
liquid is called :
(1) Evaporation (2) Condensation
(4) All of these

The substance that allows light to pass through

(3) Sedimentation

them partially are called :
(1) Transparent (2) Translucent

(3) Opaque (4) None of these

Class : VI
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*
*

¥

Pick on matreial from the following which
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complete;y soluble in water :

(1) Chalk powder (2) Tea leaves

(3) Glucose (4) Saw dust

The amount of space each thing takes up is called

its :
(1) Volume (2) Weight
(3) Area (4) All of these

Sedimentation can separate only insoluble
particles form a :

(1) gas (2) solid

(3) liquid (4) All of these

Read the statement and choose the correct option.
Statement-A : Physical change is reversible.
Statement-B : Chemical change is irreversible.

(1) Only statement A is true.

(2) Only statement B is true.

(3) Both A and B are true.

(4) Both A and B are false.

Which of the following can be compressed easily :
(1) A block of wood

(2) A glass of milk

(3) Balloon filled with air

(4) All of these

Class : VI
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BIOLOGY (Q.61 TO Q.70)

Which of the following vitamins is present in
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sprouts ?
(1) Vitamin A (2) Vitamin B
(3) Vitamin C (4) Vitamin D

Which of the following animal consumes only liquid
food :

(1) Lizard
(3) Squirrel

(2) Vulture

(4) Butterfly

Select the incorrect pair :

(1) Fiber—Proper bowel movement

(2) Vitamins — Prevent disease

(3) Proteins — Prevent constipation

(4) Minerals — Keep bones healthy

Marasmus is caused due to diet insufficient in :
(1) Protein (2) Vitamin

(3) Fats (4) Polluted water
Select the correct match out of the following :

Nutrients Source Deficiency Disease
(1) Vitamin C Seafood  Beri-Beri
(2) Calcium Milk Weak bone
(3) Protein Potatoes Kwashiorkor
(4) Iron Apples Goitre

Which of the following plant is eaten by us as a
modified root ?
(1) Cassava
(3) Potato

(2) Sweet potato
(4) Both (1) and (2)
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The flat green part of a leaf is called :

(1) Petiole

(2) Lamina

(3) Vein

(4) Midrib

Which of the following set of flowers contain
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incomplete flower ?

(1) Hibiscus and Petunia

(2) Gulmohar and Mustard

(3) Pea and Mulberry

(4) Date Palm and Mulberry

Which animal would you find a freshwater
ecosystem :

(1) Whale

(2) Shark

(3) Eagle

(4) Frog

What happen if a portion of food chain is broken ?
(1) Only consumer would be affected.

(2) All organism in the chain are affected.

(3) The decomposers and producers are affected.
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CASH AWARDS 22400 ufafiral & fic gffgd [EaR...

& SCHOLARSHIPS 31@RA & Zonal Cash Prizes & fde CLC & yawI &t ifAarfar 71 8 safe
1.21 65 & Mega Cash Prizes 31R 31 6315 @t Scholarships & fe€ CLC Classroom Courses B W2l &1 31fAart 21

Zonal Cash Award & Special Reward*

ZRL Each Class

1 Cash Prize of 3000 + Memento + Certificate + Student Kit

2to3 Cash Prize of 2000 + Memento + Certificate + Student Kit

4tol0 Cash Prize of 1000 + Memento + Certificate + Student Kit B
11to 50 Memento + Certificate + Student Kit ;é
51t0100 Memento + Certificate E

‘RL

Rest Participants : Certificate

*Cash awards will be given after tax deduction as per Govt. Norms.
Your Zonal Rank will be mentioned in the marksheet along with your Common Rank List

1. Date & Venue for Zonal Tecno'24 Fest will be announced at the time of result declaration
2. CLC Reserves the Right for extension of Exam Zone.

Mega Cash Awards*

Class 7 Class 8 Class 9 Class 10 Class 1l Class 12

CRL Class 5 Class 6
1 75000 75000 75000 100000 100000 200000 75000 75000
2to5 35000 35000 35000 50000 50000 100000 35000 35000

6tol0 20000 20000 20000 35000 35000 50000 20000 20000
11to 20 10000 10000 10000 20000 20000 35000 10000 10000

21 to 100 5000 5000 5000 10000 10000 20000 5000 5000
101to0 150 3000 3000 3000 5000 5000 10000 3000 3000
151 to 200 NA NA NA 3000 3000 5000 NA NA
201 to 250 NA NA NA NA NA 3000 NA NA

*Cash awards will be given after tax deduction as per Govt. Norms. CRL = Common Rank List

Why Tecno... Why CLC ?

22400 31 <:l.21 ?31
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